Week 11, Day 4
Written multiplication and division

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. |If possible, watch the PowerPoint presentation ety e i tistes
with a teacher or another grown-up. , |

m We canwrite?/,>%/, | Wecanwrite ¥/s<*/, | |

OR start by carefully reading through the i

Round decimals to the nearest whole, tenth and hundredth.

Learning Reminders. e
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2. Think you’ve got it? Have a go at the
Investigation or Practical Activity.
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3. Have |l mastered the topic? A few questions to oty ¥ 1 g e

Check your understanding. o v
. (c) 0.0a3
Fold the page to hide the answers! o

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4
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Learning Reminders

Use short division.

Today there will be a choice of three investigations using
short division, long division and short multiplication, so

let's remind ourselves of those methods.
| T——— &

. .- ; Before we begin, roughly
What is the digit sum f";:;re going to

how many 9s do you think

of 33379 ’
work out 333 + 9. will be in 333?
—— . ﬂ_._,_,d—f
We cover the 10s .? We write the 6 tens How many 9s
and 1s digits. How Hm':' many 95 that we have left over in 632
many 9s in 3?7 in 33?7 in front of the 1s.

1 3" 37
93 933 9333

None, 50 we move J

the Post-it along.
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Learning Reminders

Use long division.
What is the digit sum p .
of 5552 15 We are going to wmkj Before we begin, roughly
— out 555 + 15. how many 15s do you
e e think will be in 5552
/— Multiples of 15 -\, / Long division \
15
30 30 +7
45 15[555
o ~450 this is 30 x 15
90 105
105 -105 thisis 7 x 15
120 0
135 \
\_ 150 | 37 -/
Let's write multiples —
of 15 to help us. J\
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Learning Reminders

Use short multiplication.

P

ow mi u work o
6 x 1089 % S

x| 10000 o 8| 9
5‘ 5000‘ n‘ 480‘ 54‘ 6534

™ Add the numbers.

d\ul:rlli:t 1089 Multiply the 1s first,
then the 10s,
reall'p‘. x 6 then the 100s,
need this 5 5 then the 1000s.
column! Remember to leave a line
6534 for any ‘carry’ digits

during addition. _/‘
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(1 2 3 A 5 6 1 8 9 10 A1 12 13 14 15 1s 17 A% 19 20 21 22 23 24 25 26
2 ( e s
2 Investigation Mild
3 Amazing 1089 S
S %
« Multiply 1089 by 1 "
N
@ - Write the digital root of the answer (9) .
& - Multiply 1089 by 2 &
»
0 - Write the digital root of the answer o
S  Repeat these steps up to 1089 x 9 |
” « Write all the answers in a table ey
(=)}
- Ildentify as many patterns as you can
& - What happens when your multiplier goes above 9?
- 3
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(1 2 34 5 61 8 9 1011 g2 13 14 15 16 17 4 19 20 21 25 23 24 25 26 27 28 29 30 \
%\ 4 ) W
Investigation Hot
Q .. . . ]
Division digit surprise

»
S e
o R
© o Write a 3-digit number with all digits the same, e.g. 444. -
e Add the three digits,eg. 4 +4 +4 =12 »
o
& e Use either short division or long division to divide your 3-digit number by the sum of
S the digits, e.g. 444 + 12. 3
o e Write down your answer. *
e Repeat for as many other 3-digit numbers (all digits the same) as you can.
ol
< e What happens? IS
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(1 2 3 46 5 6 1 8 9 1011 42 13 18 45 16 17 .9 19 20 21 22 23 24 25 26 27 28 29 30 )
e AR
A
R Investigation Super Hot "

. N

” Amazing 6720 "
[ »®
N Solve the following divisions: w
()] ES)
& &

a 6720+2-= @
n
o
s b. 6720 +4-= ®
" c. 6720+6-= %

()]

. d 6720+8-=
(<))

e. 6720+10-= =
>
o f. 6720+ 12-= =
()]
2 g 6720+14-= (<
@ h. 6720 + 16 = &
2
‘Tﬂ »
All your answers should be whole numbers... Why is that? -

(0o) ul

0
S

& Super challenge! Find a number which leaves no remainders when divided by 2, 3, 4, 5, 6, 7 @
- and 8. Is this the smallest such number? What other numbers share this property? N
> %
0o

N

~ o
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Check your understanding
Questions

Maya says that 2578 x 4 gives the same product as 8 x 1289.
Is she correct? Demonstrate why/why not.

If Sally multiplies a number by 12, she gets 9,432.
What was her starting number?

Tom multiplies his number by 9 and gets 7074.
What was his starting number?

A farmer is packing eggs in boxes of 6.

She has 980 eggs to pack.
i) How many boxes can the farmer fill using 980 eggs?
ii)  How many boxes will she need to hold all 980 eggs?

Answers on the next page
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Check your understanding
Answers

Maya says that 2578 x 4 gives the same product as 8 x 1289.

Is she correct? Demonstrate why/why not.

Maya is correct, the product of each is 10,312.

Comparing the two questions, 4 has been doubled and 2578 halved, which
produces the same product.

If Sally multiplies a number by 12 she gets 9,432.
What was her starting number? 786.

Tom multiplies his number by 9 and gets 7074.
What was his starting number? 786.

Solved by division — for some children ‘multiplies’ is a trigger to do just that,
rather than the division (as the reverse of multiplication) needed to solve these.

A farmer is packing eggs in boxes of 6.
She has 980 eggs to pack.

i) How many boxes can the farmer fill using 980 eggs? 163.

ii)  How many boxes will she need to hold all 980 eggs? 164
Since 980 + 6 = 163r2 (or %/s), the answer to the first problem means rounding
down and the second rounding up. A child simply giving 163r2 has solved the
division but not answered the problems.
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